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Lets write for 1 particle in Id for simplicity
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Can let us desire more interesting shares



This all gives micro anonical sampling
How can we get canonical?

Want schemes where samples either

come from e- PMGPl or e- patrol

simple approaches !
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② Sample 0 's from Boltzmann distribution

Lose inertia ! But full V - distribution

is correct,
not just mean

③ Do this
,
but just for a single particle

randomly, as if colliding with Katy

Andersen thermostat

Better schemes !

Langevin Dynamics :

Apply random
fences as if there is

a temp bath

later in sin



Other good idea : [ip=-¥q E- 0¥,]
Micro canonical sampling but
for a different
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what are the dynamics ?
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Ps charges if 2×

KE bigger or
smaller
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Nose - Hoorn, doesnt
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,

but non -ergodic for

5. 1-1.0.


